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FEEEE Hiy 5 (FH) | ZE (FH) A=
AR x 130 65 1,200
AS kg 119 21 700
F= kg - - -
D+ (X£) kg 162 10 145
I=E3 kg h8 11 1,200
FEANY kg 129 86 800
(Fo2NAEH 3 - - 0
INEF kg 648 232 30
B4 F kg 432 144 70
-z kg 540 108 200
HlY 77— 1 - - -
L %X kg 130 54 800
B ke 194 33 1,107
=2 kg - Z -
B 1] - - -
7 X ke 428 189 142
A A kg 684 184 246
E—v> ke 378 216 177
DA kg - - -
=X 3 - - -
A =}I= X - - -
72z N7 - - -
S kg 810 - P
RIFD kg 972 - 4
EFL RS kg 1569 1458 8
HZ kg 486 378 15
& th= kg 237 162 600
EES kg 378 108 45
& kg 340 108 800
Y- kg - - -
= kg - - -
FHE kg 1,404 324 32

_____ =2 FS - = -
L 3 - - -
INRE 3 - - -
Fe kg - - -
FoUE & - - -
*F kg 216 124 132
B A 74 - - -
g (208) kg - - -
e (0 3f1 wf ) kg 540 518 —
HiE (5 L) kg 540 443 -

_____ EHGH. kg - - =
i kg - - -
Eg kg - - -
= A4 2/0g 356 216 -
HEZ. kg - - -
D kg = - -
EADA kg - - -
F—IX X 0> kg 891 H4(0 -
FOTRAX O kg - - -
THRNIX O kg - - -
A—AZ X0 ke - - -
251 1z - = -
YE—h—/L 1 - Z z
EE kg - - -
T F kg - - -
F N/ kg - z -
—a—NIJ—=A ke - — -
—a—FEF—* kg - - -
Svad X A ke - - -
2 kg - - -
FREL kg - - -

_____ Zkn L kg - - -
rEa L kg - - -
iR} kg - - -
v J— kg 6,210 4, 050 -
Avars kg - - -

| HE kg = - -
FEIE 10% - — -




